TPO 43 Integrated Task
The reading asserts that Agnostics (AG) were a group of marine animals that became extinct. Although paleontologists found many fossils, they cannot ensure how they ate and lived. But some ideas generate about this fact in the passage that the lecturer finds them casts doubt on the reasons proposed by reading.

First, the author argues that AG may have been free-swimming predators that could hunt smaller animals. Conversely, the lecturer brings up the idea that it was impossible because other types of primitive arthropods that could hunt had the good vision to find their targets. But, AG was a weakness animal in this sense and even was blind, and moreover, they did not have any special others sense to help them for hunting

Furthermore, the reading asserts that they might have lived on the seafloor and got their foods from grazing and bacteria. In contrast, the speaker dismisses this issue due to the fact that if they were kind of animals like other types of arthropods that lived on the seafloor, they would be a slow animal that did not scatter in enormous territories. But, they had some particular ability in order to swim all over the sea faster than other arthropods.

Finally, the reading passage holds the view that they could have been kind of parasites living on and feeding off larger organisms. On the contrary, the professor underlines the fact that if they were kind of parasites, they would be smaller than some fossils show. In other words, some clue shows they were some kind of large animal that did not live as a group, and it was impossible to postulate that they were parasites.
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